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QUESTION 1

Your disaster recovery strategy requires a mirror, an archive, and a tape backup. Which software would you recommend
for this scenario? 

A. OnCommand System Manager 

B. OnCommand Workflow Automation 

C. SnapProtect 

D. OnCommand Unified Manager 

Correct Answer: C 

 

QUESTION 2

Which NetApp technology helps to protect against ransomware attacks? 

A. SnapLock 

B. SyncMirror 

C. NetApp Volume Encryption 

D. NetApp Aggregate Encryption 

Correct Answer: A 

 

QUESTION 3

Your customer wants to implement SVM DR, but the customer is not certain whether theidentity-preserve parameter
should be enabled. The customer explains that the source and destination clusters are in different network subnets. In
this scenario, which SVM DR solution should the customer use? 

A. SVM DR using the identity-preserve parameter disabled and the default SnapMirror policy. 

B. SVM DR using the identity-preserve parameter enabled and then administratively take the data LIFs offline on the DR
cluster. 

C. SVM DR with the identity-preserve parameter enabled and a SnapMirror policy with the discard-configs network
parameter. 

D. SVM DR with the identity-preserve parameter enabled and the default SnapMirror policy. 

Correct Answer: D 

 

QUESTION 4
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You are asked to implement a NetApp solution that has high availability with transparent failover between two data
centers. Which two solutions satisfy this requirement? (Choose two.) 

A. ONTAP Select 

B. SnapVault 

C. SnapMirror Sync 

D. MetroCluster 

Correct Answer: BD 

Reference:https://www.netapp.com/ja/media/13480-tr4705.pdf 

 

QUESTION 5

Click the Exhibit button. 

Your customer is deploying SnapCenter to protect volumes on an ONTAP Select cluster. 

Referring to the exhibit, which licensing is required to protect the Engineering and Marketing volumes? 

A. a SnapManagerSuite controller-based license 

B. a 3 TB SnapCenter capacity-based license 

C. a 5TB SnapCenter capacity-based license 

D. a SnapProtectApps controller-based license 

Correct Answer: D 

 

QUESTION 6

A company just installed SnapCenter to help manage their ONTAP 9.7 environment. The database administrator wants
to add new volumes withLUNs for a 10 TB Oracle database. Which two tools would accomplish this task? (Choose
two.) 

A. SnapCenter Plug-in for Oracle Database 
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B. OnCommand Insight 

C. ONTAP System Manager 

D. Active IQ Unified Manager 

Correct Answer: AB 

Reference: http://197.253.9.244/ontap%2095/Cluster%20Admin/2_Student%20Guide/STRSW-ILT-
ONTAPADM_StudentGuide.pdf 

 

QUESTION 7

Using ONTAPSystem Manager, you are asked to replicate all the volumes contained in a Storage VM to a remote
ONTAP 9.7 system for quick disaster recovery. Which two steps need to be completed to accomplish this task?
(Choose two.) 

A. Create a SnapMirror relationshipfor each volume. 

B. Create a cluster peering relationship. 

C. Create an SVM-DR relationship. 

D. Create an SVM peering relationship. 

Correct Answer: BD 

 

QUESTION 8

Your customer wants to deploy 40 ONTAP clusters in their environment to protect client databases, Windows host file
systems,applications, and virtual machines. One of the primary monitoring and system management requirements is to
use a centralized dashboard for all application-consistent backups and REST API integration. 

In this scenario, which NetApp management tool satisfies the requirements? 

A. Element Manager 

B. SnapCenter 

C. OnCommand Unified Manager 

D. OnCommand System Manager 

Correct Answer: B 

 

QUESTION 9

Your customer is running an older cluster that uses Data ONTAP 8.1 Cluster-Mode. They would like to create a
SnapMirror relationship with their new ONTAP 9.5 cluster. 

In this scenario, what must the customer do tocreate the SnapMirror relationship? 
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A. The customer can create a DP type SnapMirror relationship without needing to perform an upgrade. 

B. The customer must first upgrade the Data ONTAP 8.1 Cluster-Mode storage array to at least ONTAP 9.1 and then
createthe XDP SnapMirror relationship. 

C. The customer must first upgrade the Data ONTAP 8.1 Cluster-Mode storage array to at least ONTAP 8.3 and then
create the XDP SnapMirror relationship. 

D. The customer can create a XDP type SnapMirror relationship withoutneeding to perform an upgrade. 

Correct Answer: C 

 

QUESTION 10

You are copying your data and replicating it off site. What is the called? 

A. a backup 

B. a demonstration 

C. a version 

D. a Snapshot 

Correct Answer: A 

 

QUESTION 11

You want to configure peering between two existing ONTAP HA clusters. 

In this scenario, which three steps would you perform to accomplish this task? (Choose three.) 

A. Create a cluster peering relationship. 

B. Create intracluster LIFs. 

C. Create intercluster LIFs. 

D. Create a SVM peeringrelationship. 

E. Create iSCSI LIFs. 

Correct Answer: ACD 

 

QUESTION 12

A customer has application data corruption on a LUN that is in a volumewith six other data LUNs. The customer needs
to restore the corrupted LUN from a Snapshot copy without affecting the other six LUNs. Which process would
accomplish this task? 

A. Use volume SnapRestore. 
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B. Use LUN mapping. 

C. Use the volume Snapshot partial-restore file. 

D. Use a single-file restore. 

Correct Answer: D 

Explanation: https://library.netapp.com/ecmdocs/ECMP1196784/html/GUID-17286F40-
08CA-4EB0-8788-3F3F70D185C4.html 

 

QUESTION 13

A customer wants to enforce prompt tiering when the cooling threshold has been reached. They want to do this even
though the data may have been deleted or the data continues to exist in the primary file system. 

In this scenario, which tiering policyshould be used? 

A. Auto 

B. Snapshot-only 

C. Backup 

D. None 

Correct Answer: A 

 

QUESTION 14

Click the Exhibit button. 
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A customer is interested in using SnapCenter tosupport Snapshot copies with their Oracle DB. They virtualized their
environment but do not have any block protocols available. In this solution, which protocol shown in the exhibit is
supported? 

A. NFS 

B. SMB3 

C. iSCSI 

D. FC 

Correct Answer: A 

 

QUESTION 15

To ensure enough bandwidth for other applications, you want to restrict all replication bandwidth on your destination
cluster. 

How would you accomplish this task? 

A. Using OnCommand System Manager on your source cluster, create a QoS policy on the source. 

B. Using the ONTAP CLI, enable global throttling on the source cluster. 

C. Using OnCommand System Manager on your destination cluster, create a QoS policy on the destination. 

D. Using the ONTAP CLI, enable global throttling on the destination cluster. 

Correct Answer: B 
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